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#include <stdio.h> #include <stdio.h>
int main(void) int main(void)

{ printf("[ (11) \n"); { puts("[_(12) ") ;
} return (0); } return (0);
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#include <stdio.h>

int main(void)

{

int [ (13) |;
printf("BEEANDLTLEET VI, /* BREDANZRT */
scanf("[ (14) ", [ (15) Jno); /* BREBEZFZHIASL */

printf ("B TDHIIE%ATT, \n", no 10);

return (0);
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nx = (17) . . .
dx = (18] ] ?nt main (void)
int nx;
double dx;
nx = 9.4;
dx = 9.4;
. o printf("nx = %4d\n", nx);
B UTIERTDIR, Zo0FEHzHA printf("dx = %.2£\n", dx);
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#include <stdio.h> :D@%%I%)\ﬁb’(<7ué(ﬂ
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int main(void) =%B 3070
{ *¥N5OEHF.5TY,
double fa, fb;

}

puts("ZODEHEANLTLEEV, M);

printf ("EHA 1 ");
printf("EHHB 1 ");

scanf (" (19) |', &fa);
scanf("[ (19) ', &fb);

printf("Zh 5 DFEHIE[ (20) JTT, \n", / 2);

return (0);
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printf("Z h 5 DFPIEF[(20) JTT, \n",

EEHLTH Ly,
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(fa + fb) /[ (22) );

#inc

int

{

lude <stdio.h>

main (void)

printf("[[_(23) JI\n",
printf("[[ (24) Jl\n",
printf("[[ (25) f\n",

printf("[[ _(26) Jl\n",
printf(" [ (27) J1\n",
printf("[[_(28) Jl\n",

return (0);
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